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IX. Fill in the blanks correctly for each graph bélow.
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Function

=[x |

Function 0{ =

d

Middle, or Starting Point Middle, or Starting Point Middie, or Starting Point

Reflected or Not Reflected Reflected or Not Reflected Reflected or Not Reflected

Equation for this graph Equation for this graph Equation for this graph

Function q =

Function u ":)(
)

Middle, or Starting Point Middle, or Starting Point (— lg 5) Middle, or Starting Point

Reflected or Not Reflected Reflected or Not Reflected ‘7/6 $ Reflected or Not Reflected

Equation for this graph Equation for this graph
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Equation for this graph




